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arithmetic, potentially leading to a faster development of mathematics.

To visualize it geometrically, let us extract from the earlier diagram for the
Euclidean Algorithm two significant portions.

68 | 08 i

We can combine the two diagrams above by removing the shaded parts, as
shown below.
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We are down from three copies of 68 to two. To continue its elimination,
we first modify the last diagram by moving one copy of 68 to the left, as shown
below.

289 I 68 117
5971 I 9]

Combine this with the first diagram to eliminate the second copy of 68.
After the third copy of 68 has been eliminated in the same way, we will have
four copies of 221 on the bottom row and three copies of 289 plus the lone copy
of 17 on the top row.
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